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QUESTION ONE O gurd =(§ e B

ATTEMPT QUESTION ONE AND ANY OTHER TWO 1 _ (o} ©° %L

a) Macroeconomics has been described as a study of aggregates. Name and explain some
important aggregates whose behaviour is analysed in macroeconomics. (4 Marks)

b)Given the saving function |S= -10+0.2y 4nd autow' is Ksh 50(Millions),find
i)The equilibr{ux}l level of income and consumption (3 Marks) _

ii)if inyestment decreases permanently by 5 what will be the new levels of income and
consumption. “erg s Ml (3 Marks)
c)Explain the life cycle hypothesis by comparing the major differences with the permanent
Income hypothesis of consumption.(6Marks) S =

d) Using the IS-LM Model analyse the impact of an increase in money supply on the equilibrium
level of income and rate of interest. (6 Marks)

e) Distinguish between monetary policy and fiscal policy. Explain the major instruments of
monetary policy \Why are these policies frequently ineffective in less developed countries?
s 9 = prpi S b b e
: (8 Marks)
QUESTION TWO T e P E :
ayAssume that real GDP (¥) is 1,200. Consumption (C) is given by the equation C = 125 +
0:75(Y - T). Investment (J) is given by the equation /=200 -10r, where r is the real
interest rate in percent. Taxes (7) are 100 and government spending (G) is 150 ~2s0

i) What is the equilibrium value of ? (4 Marks)
ii) What are the equilibrium values of C and I? 4 Marks) \

iii)Now assume government purchases increase b_y\‘ 50to 20@ What are the new equilibrium \

values of C, I, and ?_ {4 Marks) J
iv) [3 points] Now assume that we start again at G = 150. Suppose a government education /

program succeeds in getting households to save more. It Jowers marginal propensity -

consume (MPC) tq 0.604 What is the new equilibrium lvalue of r2(4 Marks)

v)Suppose that both government purchases (G) and taxes (7) increase by 100. Isx increasing pr
T " " Mutks)

decreasing? Briefly explain.

QUESTION THREE 10 e%c\%s(‘.*’(i“’”‘mﬂ
The product four sector product marked model is givenas - Q.‘ze‘/)

: 3 worors (-5
C =100 +0.75 (Y -T) {Consumption function) \oot @ Y 6L~ ?.‘S\f
[=200-2000i,  (Investment functicn) Bt £o¥ 2%
oEes | (MEWEUING  (mporchuction) o B2E 17F g
T=80+020% (Tax function), - BRI (50~ (2040 |,
X =50 (Export funcfion) S gty
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Ms=200 Md=0.5Y+100-2500r

DDerive IS function. (2 Marks)

ii)Find the Lm function (2 Marks)

1ii)Find the equilibrium interest rate and income. (6 Marks)

b)i) Distinguish between monetary policy and fiscal policy. (2Marks)
i1)Why are these policies frequently ineffective in less developed countries?(8 Marks)

QUESTION FOUR
gre=

a)You are an economist working for the Central Bank of Kenya. Use the aggregate demand-
aggregate supply modet to illustrate graphically your policy recommendation on real output and
price level under the following assumptions, - (15 Marks)
i)A reduction in the rate of income tax
i1)A reduction in the level of government expenditure

" iii)Growth and recession

¢) Distinguish between expenditure reducing and expenditure switching policies to correct
balance of payment disequilibrium. (5Marks)



